
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

1635.8 × 0.1 = ________ 7277 × 0.0001 = ________

5686.4 × 0.01 = ________ 3252.9 × 0.0001 = ________

8825.5 × 0.0001 = ________ 3783.9 × 0.1 = ________

6840.4 × 0.0001 = ________ 4940.9 × 0.0001 = ________

1175.1 × 0.0001 = ________ 9727.1 × 0.0001 = ________

2302.8 × 0.1 = ________ 5062.5 × 0.0001 = ________

5094.3 × 0.001 = ________ 3759 × 0.01 = ________

8156.4 × 0.01 = ________ 7882.7 × 0.01 = ________

6747.3 × 0.1 = ________ 3973.2 × 0.1 = ________

8551.4 × 0.01 = ________ 7618.8 × 0.001 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

1635.8 × 0.1 = 163.58 7277 × 0.0001 = 0.7277

5686.4 × 0.01 = 56.864 3252.9 × 0.0001 = 0.32529

8825.5 × 0.0001 = 0.88255 3783.9 × 0.1 = 378.39

6840.4 × 0.0001 = 0.68404 4940.9 × 0.0001 = 0.49409

1175.1 × 0.0001 = 0.11751 9727.1 × 0.0001 = 0.97271

2302.8 × 0.1 = 230.28 5062.5 × 0.0001 = 0.50625

5094.3 × 0.001 = 5.0943 3759 × 0.01 = 37.59

8156.4 × 0.01 = 81.564 7882.7 × 0.01 = 78.827

6747.3 × 0.1 = 674.73 3973.2 × 0.1 = 397.32

8551.4 × 0.01 = 85.514 7618.8 × 0.001 = 7.6188
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